APTITUDE QUIZ

1. The percentage of loss when an article is sold at Rs. 50 is the
same as that of the profit when it is sold at Rs. 70. The above
mentioned percentage of profit or loss on the article is

50 T # fordl avg A d9 W el @ wfawd @i ol § Rt wfdera amer
3@ 70 30} & 99 W T &, g W gfaerd amer a1 gifed Aa w1 |

(a) 10%

(b) 165%

(c) 20%

(d) 22 2%

2. A man sells an article at 10% loss. If he had sold it at Rs. 10

more, he would have gained 10%. The cost price of the article is

U AfFd Th a&] 10% gfd W S=ar § | afE ag avg # 10 39¥ s qeu

9T AT df 3H 10% W @, a 9] FT FI Hed AT HY

(a) Rs. 50
(b) Rs. 55
(c) Rs. 100
(d) Rs. 110

3. If a man were to sell his chair for Rs. 720, he would loss 25%. To
gain 25% he should sell it for

afe v safFa v w4t Ft afe 720 ToF F S=ar §, aF 3§ 25% #r @i @ @,
Y 25% o FAE F faT 3@ FHl F 9 qeT W I=wam Tfed 2

(a) Rs. 1200

(b) Rs.100

(c) Rs. 960
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(d) Rs. 900

4. A store sells a watch for a profit of 25% of the cost price. Then

the percentage of profit against selling price is
UF TR A a6rd Hed & 25% o7 9w udt 9t o @ | R qe7 o aner v

gfaera fra«r gem ?
(a) 22%
(b) 20%
(c) 18%
(d) 15%

5. By selling a basket for Rs. 19.50, a shopkeeper gains 30%. For
how much should he sell it to gain 40%?

UF AHY N 19.50 FIF H 99 W TH HEGR H 30% o1 gar g, ar 40%
a1 FA & AT 3@ AN F FE AFT W ST gy |

(a) Rs. 21
(b) Rs. 21.50
(c) Rs. 24
(d) Rs. 23

6. A man purchased a bedsheet for Rs. 450 and sold it at a gain of
10% calculated on the selling price. The selling price of the
bedsheets was

UF gfFd d 450 FUF H v dsefle @lew 3@ fAq & 10% oy w o= fa,
ar asefie &1 @, AT |

(a) Rs. 460

(b) Rs. 475

(c) Rs. 480
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(d) Rs. 500

7. An article is sold at 5% profit. The ratio of selling price and cost
price will be

UF qEq H 5% T W 99T ST 8, O A7, TAT FT AeT FT IA[UG FAT B ?
(a) 1:5

(b) 20:21

(c) 21:20

(d) 5:1

8. By selling a bicycle for Rs. 2,850 a shopkeeper gains 14%. If the
profit is reduced to 8%, then the selling price will be

2,850% # UF WEfHhd IUFT UF GHFECR 14% o7 FATGT ¢ | I oy aea

8% & arar g, af LA, AT |

(a) Rs. 2600
(b) Rs. 2700
(c) Rs. 2800
(d) Rs. 3000

9. By selling an article for Rs.960 a man incurs a loss of 4%; what
was the cost price?

960% # TF TEJ F TN W TF AFT A 4% T @ §, F F7 qeT AT AW |
(a) Rs.1000
(b) Rs. 784
(c) Rs. 4984

(d) Rs. 300

10. If a man were to sell his handcart for Rs. 720, he would loss
25%. To gain 25%, the selling price is

UF AfFd 9aT Raem 720 & S=ar &, O 37 25% &Y gifer gt & aY 25% sy
FAW R &1 fAga gea g @ifew |
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(a) Rs.960

(b) Rs. 1200
(c) Rs. 1000
(d) Rs. 2100

11. A book vendor sold a book at loss of 10%. Had he sold it for Rs.
108 more, he would have earned a profit of 10%. Find the cost of
the book.

U qEds fashdr th fHdae 10% g W dwar ¢ | afe ag fhame 1 2108 srfts
Hed W I9aT at 37 10% FT a7 a1 at frae w7 Ao A # |

(a) Rs.442

(b) Rs. 540

(c) Rs. 648

(d) Rs.740

12. A radio dealer sold a radio at a loss of 2.5%. Had he sold it for
Rs.100 more. He would have gained 7%0/0. In order to gain 12%% he

should sell it for
T WA RAgar S e =AY 2.5% g ov Q=7 | Ife gg IR &Y 1002 310w
AeT W AT A W 7 % dH QT | 12°% A FAW F R 5@ WD A

fFas T # Jgar TRy ?

(a) Rs.1080
(b) Rs.1125
(c) Rs. 850
(d) Rs.925

_ Mob:- 7340013913 , 8829988088 For Daily GK — Visit — www.gkindiatoday.com




Certified Institute

13. An article is sold at a gain of 15%. Had it been sold for Rs.27
more .The profit would have been 20%. The cost price of the article
is

UF qFg P 15% a7 W a9 4T | I 3@ 27 T HMOS Hew W dwT S A
20% 3T g1, At 9% FT HT Hed AT F |

(a) Rs.500

(b) Rs.700
(c) Rs.540
(d) Rs.545

14. There would be a 10% loss. If rice is sold at ¥ 54 per kg. To earn
a profit of 20%, the price of rice per kg will be

Ife 99 &Y T 54 fa fFam. &Y T @ 9=7 I1ar &, ar 10% &Y gy aeft | 20%
FT ATH II°d T & fow a@ad Y ufa . fraa fedasr geir 2

(a) Rs.72

(b) Rs.70
(c) Rs.63
(d) Rs.65

15. A profit of 12% is made when a mobile phone is sold at ¥ P and
there is 4% loss when the phone is sold at¥ Q. Then Q: P is

IR ATET PFT I P A QT W AT AT @ 12% T aH gar g IR I T Q W

a7 ATC aY 4% Y gy @ & | Q:P T @19 ?
(a) 1:1
(b) 6:7
(c) 4:5
(d) 3:1
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16. An article is sold at a profit of 25%. If the selling price is
doubled, the profit percent will be:

$I$ aFg 26% F o W A St § 1 IR @AY qew e wX RAr Sme ar amr
T g ?

(a) 200%

(b) 150%

(c) 100%

(d) 50%

17. A man purchased an article for ¥ 1500 and sold it at 25% above
the cost price. If he has to pay ¥75 as tax on it his net profit
percentage will be:

U FiFd o TH ad T 1500 #F @l AR Anrd qew § 25% A W 3@ A"
far | 9 3@ 39 W T75 o & T H &7 ysT § oY 39F foger anr v gfderdar
T greft ?
(a) 25%
(b) 30%

(c) 15%
(d) 20%

18. By selling some goods at ¥ 31, a salesman loses 7% on his
output. Find the percentage profit or loss, when he sells the same at
¥ 35.

F6 FAW T 31 & 399 W, AcHAT FT IJUA 3cUGaA 7% HT gifer gt &, Y 39

AT & T 35 & d9a W 3 fhdsr gfaera o ar gifer geft 2

(a) Loss 7%
(b) Profit 5%
(c) Loss 5%
(d) Profit 7%
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19. The marked price of an article is 10% higher than cost price. A

discount of 10% is given on marked price. In this kind of sale, the
seller bears:

et avq #1 fra Ao 30F aPTT AT F 10% IAF ¢ | 3#fFha Fqea | 10%
$r ge A ST 8, oY fasear &1 gfdera amr @ g A@a w0

(a) no loss no gain
(b) a loss of 5%
(c) a gain of 1%
(d) a loss of 1%

20. A dealer makes a profit of 20% even after giving a 10%
discount on the advertised price of a scooter. If he makes a profit of
Rs. 7500 on the sale of the scooter. The advertised price was

F TR & Afd qea W 10% HT geadd & dIasg T Sl 20% 18T FATAT

¢ 1 I 3@ 7500 9 @mer gYam §, A TheX & AAia qew AT w+ |

(a) Rs. 45000
(b) Rs. 47500
(c) Rs. 50000
(d) Rs. 52500

ANSWERS
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5.A

10.B
11.B
12. B
13.C
14. A
15.B
16. B
17.D
18.B
19.D

20. C
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